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Fﬁj(*_l,{:t 20 mm EXEX-ES 50 I
TAT7 N OFIE BET AT 7k 40/60 (RGEEEA SR 3 1A
BA W 8L 7 1k RS—=—defet frainEs . =S %%ﬁ%%%%
FERHE M OZEANKES B85 B &
R B4 BLER AR BMA | BAeR (HE OB AR HEE B B EeER FHEE
(%) (%) (%) (ke) (%) (kg)
S—20/19.0 ﬁsﬁ R13-0 | 29.9 747 A b 0.5 12.0
L. |8—13]17.5 A OB 2.4 60. 0
A s— 50 5.0 M 5L ZETAE| (5. 4)
= |FEHE®| 8.5 | B | RI3-0 30,0 [4vv] 17.0 425 |HT7 AE (1.5)| ——
N Tmdmrb| 8.5 | 4 3P| 17.0 | 425 | mamwwmA
B M W] 8.5 B ory| 4.7 118 |#H7au7vh] 3.9 98.0
B OBl 30 | #M 1Y | 24.6 615
B 1000 |Oor v i 100.0 | 2500.0
HS5H5WVWH 2 KN BE A|BE B B & mMmAMBRBR KN OE #
53 mm
B 37.5 mm
B 31.5 mm
2 26. 5 mm 100. 0 100.0 e 100
= 19 mm 99. 0 98. 7 e 95 ~ 100
] 13.2 mm 81.7 81.2 —_— 75 o~ 90
5 4,75 m 56. 6 57.2 e 45  ~ 65
2R 2.36 mm 44,0 44.5 e 3B~ 50
. 600 um 24. 3 24. 4 e 18 ~ 30
%o 300 pun 16. 4 16. 5 — 10 ~ 21
150 um 9.8 10. 1 R 6 ~ 16
75 unm 6. 4 6.1 —_— 4~ 8
= N B &8 5 BE A5 R B e e &
BT AT 7 )V b E (%) | 8%5t 5.4 BRE 5.4 FhH 5.0 ~ 6.0
H7Y A7 7V & (%) 1. 53 1.5 e
BAEHEBMA & (%) —
BT AT 7V NE (%) 3. 87 3.9 ——
w B M = (%) —_
"% B (g/en’) 2.376 2.374 —_—
v RZERREKEE  (¢/on) 2. 468 2. 468 —
I &2z B = (%) 3.7 3.8 S— 3~ 6
vES T E (%) 76. 9 76. 4  — 70 ~ 85
YRE © E (KN) 11.94 11.97 —— 4. 90 D=
VBRI w — & (1/100cm) 30 30 e 20 ~ 40
P 7 EE (%) —
xO# B E (g/cm®) — 2.374 _
g % F E (E/m)  — —
T O Wb E (en?) —_— _— —
) Bt B (%) — _ —_—
% K & o (ewm/sec) —_—
B AW A BERE 160 + 10 °C
A i S TH
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